Subject: Calculating child's age in months
Posted by Johanne Elgaard on Mon, 17 Apr 2023 13:28:53 GMT

View Forum Message <> Reply to Message

| am using the 2014 Ghana DHS which is recoded as in the DHS 6 Recode Manual. The variable
hwl indicates the child's age in months. According to the DHS 6 Recode Manual, this is
calculated from the date of the interview (cmc) (vO08) and the date of birth (cmc) (b3). For the hwl
variable there are 3102 missing values, but for both vO08 and b3 (which hwl are based on) have
zero missing values.

Can anyone help me understand where the missing values in hwl comes from?

Thank you

Page 1 of 1 ---- Generated from The DHS Program User Forum


https://userforum.dhsprogram.com/index.php?t=usrinfo&id=15693
https://userforum.dhsprogram.com/index.php?t=rview&th=12630&goto=26683#msg_26683
https://userforum.dhsprogram.com/index.php?t=post&reply_to=26683
https://userforum.dhsprogram.com/index.php

